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468 BEZMIXVSR /EXF-97X
&8F—LBE EH16F—-L

2 & B Ad—Fk Bl Ba—k S
8:15 5 {1 B %8
8:40 Eﬁ % :_l'-t
A—1 A—2 A—4 B—1 B—2 B—4
Ex+-| @ 9:00 1vs0 4vs0
FC NaT's FC JUNK PLK JJC + f.c.s.u Current
A—1 A—2 A—4 B—1 B—2 B—4
MIX | @ | 9:20 1vs 1 1vs 1
FC Relacion ?Eﬁ f.c.s.u Current gAifiEﬂiMIX SKY GOUT
A—3 A—4 A—1 B—3 B—4 B—1
Ex+-| @ 9:40 Ovs O Ovs 1
FC XERO PLK FC NaT's |BHRBFRIVFILF—L4 f.c.s.u Current JJC
A—3 A—4 A—1 B—3 B—4 B—1
MIX [ @ | 10:00 2vs 0 2vs 0
espinafre f.c.s.u Current| FC Relacion BEEEF GOUT 5hiE KERMIX
B—1 B—3 B—2 A—1 A—3 A—2
Ex+-| ® [ 10:20 3vs 1 3vs 1
JJC BRARTYMFILF—L + FC NaT's FC XERO FC JUNK
B—1 B—3 B—2 A—1 A—3 A—2
MIX | ® | 10:40 1vs2 Ovs 2
8hi% KERMIX BEEEF SKY FC Relacion espinafre it
B—2 B—4 B—3 A—2 A—4 A—3
Ex+-| @ | 11:00 2vs 3 Ovs 2
T f.c.s.u Current|srasowsnz—sl  FC JUNK PLK FC XERO
B—2 B—4 B—3 A—2 A—4 A—3
MIX 11:20 4 vs 1 3vs 1
SKY GOUT HEET Ri= fc.s.u Current| espinafre
A—1 A—4 A—2 B—1 B—4 B—2
EXx+-| © | 11:40 1vs 4 1vs 1
FC NaT's PLK FC JUNK JJC f.c.s.u Current +
A—1 A—4 A—2 B—1 B—4 B—2
MIX 12:00 5vs 2 6vs 0
FC Relacion fc.s.u Current|  ®E& BhiE KBEFMIX GOUT SKY
A—2 A—3 A—1 B—2 B—3 B—1
Ex+-| @ | 12:20 Ovs 2 2vs 2
FC JUNK FC XERO FC NaT's + BRARTIHILTF—L JJC
A—2 A—3 A—1 B—2 B—3 B—1
MIX | @ | 12:40 Ovs O 3vs 2
FIR espinafre FC Relacion SKY BEEEF |shEXEHMIX
. A14I R B4 A2 3k B2f1
E¥+-| @ | 13:00 =15 =15
PLK 2vs 0 JJC FC NaT's 2 vs 1 fc.s.u Current
A4 R B4 A2{i 3R B2{i
MIX 13:20 215 =15
espinafre D SKY - 1vs 3 vwum
2pk 3 Fix BHEBT
13:40 A= X
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A2 A A s | ms | xm | maxa| Ee
FC NaT's | FC JUNK | FC XERO PLK T
AT O O o
FC NaT's i — 013 — 111 — 4 6 o o 0 2
A2 ® ® ®
FCJUNK [0 — 1 0o — 2o - 2| O 0 0 o 4
A3 ® O A
FCXERO [1 — 3|2 — 0 0 — 0 4 3 3 0 3
A4 @) O A
PLK 4 — 12 — o0]o 0 7 6 1 5 1
B-1 B-2 B-3 B-4 -
JJC + snasomnr—ilfosy Curent] R | BR | KR | BRR| IR
B-1 [ @) @) N
JJC 4 — 0|3 — 1|1 = 1 / 8 2 6 1
B-2 o A o
T 0 — 4 2 — 2|2 - 3 1 4 9 =0 4
B-3 o A o
BERAFIVRHLF—L4| ] - 3 2 - 2 0 - 1 1 3 6 _3 3
B-4 A @) @)
fesuGCurrentf 1 — 1|3 — 2|1 — 0 / S 3 2 2
[BEZMIXOSR] U-TJF
AT A2 A3 A4 - ,E ,E N
FC Relacion RiE espinafre |fc.s.u Current B T K SRR | RS
AT [ A ® @)
FC Relacion i —1]0 — 215 — 2 4 6 o 1 3
A-2 A A O
FE |1 - 0o — o3 — 1] ° 4 2 2 2
A-3 @) A O
espinafre 2 — 0|0 — O 2 — 0 / 4 0 4 1
A4 ) [ o
fcsuCurrentff 2 — 5 |1 - 310 — 2 0 3 10 -/ 4
B-1 B-2 B-3 B-4 -
aEimvix| Sky | @&AT | cour | BR | BR | RR | 8RR | IR
B-1 A ® @)
5hi& KERMIX i — 11 — 26 — 0 4 8 3 0 3
B-2 A O O
SKY 1T -1 3 — 214 - 1 / 8 4 4 1
B-3 @) [ ] @)
EEEF |2 - 1|2 — 3 2 — 0 6 6 4 2 2
B4 ) [ o
GOUT [0 — 6|1 — 4|0 — 2 0 1 12 ~11 4




